BID EVALUATION REPORT

01	Name of Procuring Agency:	Executive Engineer Small Dams Division Nagarparkar @ Mithi.
62	Tender Reference	
03	Tender Description/Name of work/item:	Procurement of material goods, unskilled labour, hiring of machinery, tractor, datsun pickup, parts of government vehicles, computer parts, electrical material, other materials, office equipment and other stationary articles etc For the year 2016-2017 in small dams division Nagarparkar @ Mithi.
04	Method of Procurement:	Single one Envelope Procedure
05	Tender Published	Daily Awami Awaz Dated: 23-07-2016 & Daily Dawn News Karachi dated: 23-07-2016.
06	Total Bid documents Sold:	03 Nos
07	Total Bids Received:	03 Nos
08	Technical Bid Opening:	03 Nos
09	No. of Bid technically qualified (if applicable):	(No)
10	Bid (s) Rejected:	No
11	Financial Bid Opening Date:	02-09-2016
12	Bid Evaluation Report:	A

SR.#	NAME OF FIRM OR BIDDER	COST OFFERED BY THE BIDDER	LOWEST ITEMS	REASONS FOR ACCEPTANCE/ REJECTION	REMARKS
01	M/S M.H Memon Government Contractor	Rate Contract	Item No. (I) 24 to 32, 36 to 40 (II) I to I3 (III) I to 3 (IV) I to 2 (V) I to 6 (VI) I to 4 (VII) I to 5 (IX) I to 5 (X) I to 26 (XII) I to 5 (X) I to 26 (XII) I to 5 (IX) I	Item No. (I) 24 to 32, 36 to 40 (II) 1 to 13 (III) 1 to 3 (IV) 1 to 2 (V) 1 to 6 (VI) 1 to 4 (VII) 1 to 5 (IX) 1 to 5 (X) 1 to 26 (XII) 1 to 51.	Being Lowest
02	M/s Abdul Hakeem Chachar & Sons Government Contractor	-do-	(XIII) 1 to 72.	(XIII) 1 to 72.	Being Lowest
03	M/s Bashir Ahmed Government Contractor	-do-	Item No. (I) I to 23, 33 to 35 & 41 to 45 (XI) I to 74.	Item No. (I) 1 to 23, 33 to 35 & 41 to 45 (XI) 1 to 74.	Being Lowest

ZAHID HUSSAIN SHAIKH

CHAIRMAN

Superintending Engineer Small Dams Circle Sindh Hyderabad

ALI MUHAMMAD JAT

MEMBER Executive Engineer Auqaf Sindh Hyderabad KHALID NAWAZ DAHAR MEMBER / SECRETARY Executive Engineer

Small Dams Division Nagarparkar @ Mithi



No.	TC/SDD/NGP/	Dated:	/2	C
	TC/ODE T/TTCIT/			í

Email: xensdd_nagarparkar@yahoo.com Phone #, 023-2261801

MINUTES OF PROCUREMENT COMMITTEE MEETING

NIT NO. TC/SDD/NGP/43 Dated. 20.07.2016 Date of opening. 2nd September 2016

A meeting of the procurement committee held in the office of the Executive Engineer Small Dams Division Nagarparkar @ Mithi, under the chair of the Superintending Engineer Small Dams Circle Sindh Hyderabad.

The below mentioned members of the committee attended the meeting to discuss the bids invited for the procurement of Goods & Services as per SPPRA rules 2010 as amended 2013 as rate contract rule No. 15 of regulation No. 5.2 of (iv) vide the Executive Engineer Small Dams Division Nagarparkar Nit No. cited above and subsequently hoisted on the SPPRA website and published country vide leading newspapers in Sindhi, English & Urdu through Sindh information Department.

ZAHID HUSSAIN SHAIKH

Superintending Engineer Small Dams Circle Sindh Hyderabad

ALI MUHAMMAD JAT

Executive Engineer Auqaf Sindh Hyderabad

KHALID NAWAZ DAHAR

Executive Engineer Small Dams Division Nagarparkar @ Mithi Chairman

Member

Member / Secretary

During course of meeting following points were discussed.

i. The application of contractors applied for issue of bid were checked in detail with issue of bids after received amount of cost of tenders fees/ bidding documents. On scrutiny following bidders were found applied for as detailed below:

Sr #	Name of Applicant	Amount Paid	DR No.Date
01	M/S M.H Memon Government Contractor	1,00,000/=	97 / 23.08.2016
02	M/s Abdul Hakeem Chachar & Sons Government Contractor	1,00,000/=	99 / 23.08.2016
03	M/s Bashir Ahmed Government Contractor	1,00,000/=	98 / 23.08.2016

ii.	The process of bids received back on or before 1.9 at 12.00 Noon. The procurement Committee opened such bids at 1.00 PM on 2.9 in
7	presence of all the participating bidders and / or their authorized representatives.
iii.	The method of bidding documents observed as one envelope sigl stage procedure.
iv.	The rate quoted by bidders was read aloud and encircled by the chairman of procurement committee.
v.	The procurement committee observed received back bids comparison with issued bids one by one works / items as detailed below.

Sr#	Name of Work	Name of Firm / Bidder	Rate Contract Quoted by Bidders	Re	marks
un ma pic vel	Procurement of material goods, unskilled labour, hiring of machinery, tractor, datsun	M/S M.H Memon Government Contractor	All Items		
	pickup, parts of government vehicles, computer parts, electrical material, other	M/s Abdul Hakeem Chachar & Sons Government Contractor	-do-		
*	materials, office equipment and other stationary articles etc For the year 2016-2017 in small dams division Nagarparkar @ Mithi.	M/s Bashir Ahmed Government Contractor	-do-	78	3 £

The procurement committee thoroughly scrutinized each case / bidding documents by comparing arithmetically and financially with schedule of pries / schedule of requirements and criteria for eligibility and minimum qualification as per bidding documents.

RECOMMENDATION / DECISION

The due deliberation / scrutiny of each bid by the committee and recommended for award respective item of works to the lowest evaluated responsive bidders as shown against each and every work / items after approval from competent authority.

The meeting ended with the vote of thanks by the chair.

ZAHID HUSSAIN SHAIKH CHAIRMAN

Superintending Engineer Small Dams Circle Sindh Hyderabad

ALI MUHAMMAD JAT
MEMBER
Executive Engineer
Augaf Sindh

Hyderabad

KHALID NAWAZ DAHAR
MEMBER / SECRETARY
Executive Engineer
Small Dams Division
Nagarparkar @ Mithi



No. TC/SDD/NGP/	Dated:	/ /20

Email: xensdd_nagarparkar@yahoo.com Phone #, 023-2261801

BIDDING ELIGIBILITY / QUALIFICATION REPORT

NIT NO: TC/SDD/NGP/43 Dated: 20-07-2016

DESCRIPTION OF WORKS.

PROCUREMENT OF MATERIAL GOODS, UNSKILLED LABOUR, HIRING OF MACHINERY, TRACTOR, DATSUN PICKUP, PARTS OF GOVERNMENT VEHICLES, COMPUTER PARTS, ELECTRICAL MATERIAL, OTHER MATERIALS, OFFICE EQUIPMENT AND OTHER STATIONARY ARTICLES ETC... FOR THE YEAR 2016–2017 IN

SMALL DAMS DIVISION NAGARPARKAR @ MITHI.

Name of Procuring Agency:

Executive Engineer Small Dams Division Nagarparkar @ Mithi.

Sr#	Eligibility	M/s M.H Memon Government Contract	or
01	Registration with PEC (if Applicable)	Yes	
02	NTN	Yes	
03	Professional Tax	Yes	
04	Registration with Sindh revenue Board (SRB)	Yes	
	Qualification Criteria		*
05	Company Profile	Attached	
06	List of last 5 years similar type works by the contractor / firms.	Yes	
07	Detail of Equipment, Machineries and Transport owned by the contractor / firms.	Attached	
08	Financial Statement Showing the Annual Turnover of last 3 years and income tax last 3 years.	Yes	
09	Responsiveness	Qualified	

ZAHID HUSSAIN SHAIKH CHAIRMAN Superintending Engineer Small Dams Circle Sindh

Hyderabad

ALI MUHAMMAD JAT MEMBER Executive Engineer

Executive Engineer Auqaf Sindh Hyderabad KHALID NAWAZ DAHAR MEMBER / SECRETARY Executive Engineer Small Dams Division

Nagarparkar @ Mithi



No. TC/SDD/NGP/	Dated: /	/20
-----------------	----------	-----

Email: xensdd_nagarparkar@yahoo.com Phone #, 023-2261801

BIDDING ELIGIBILITY / QUALIFICATION REPORT

NIT NO: TC/SDD/NGP/43 Dated: 20-07-2016

DESCRIPTION OF WORKS.

PROCUREMENT OF MATERIAL GOODS, UNSKILLED LABOUR, HIRING OF MACHINERY, TRACTOR, DATSUN PICKUP, PARTS OF GOVERNMENT VEHICLES, COMPUTER PARTS, ELECTRICAL MATERIAL, OTHER MATERIALS, OFFICE EQUIPMENT AND OTHER STATIONARY ARTICLES ETC... FOR THE YEAR 2016–2017 IN

SMALL DAMS DIVISION NAGARPARKAR @ MITHI.

Name of Procuring Agency:

Executive Engineer Small Dams Division Nagarparkar @ Mithi.

Sr#	Eligibility	M/s Abdul Hakeem Chack Government Contractor	
01	Registration with PEC (if Applicable)	Yes	
02	NTN	Yes	
03	Professional Tax	Yes	
04	Registration with Sindh revenue Board (SRB)	Yes	
	Qualification Criteria		
05	Company Profile	Attached	
06	List of last 5 years similar type works by the contractor / firms.	Yes	
07	Detail of Equipment, Machineries and Transport owned by the contractor / firms.	Attached	
08	Financial Statement Showing the Annual Turnover of last 3 years and income tax last 3 years.	Yes	
09	Responsiveness	Qualified	

ZAHID HUSSAIN SHAIKH CHAIRMAN Superintending Engineer Small Dams Circle Sindh Hyderabad

ALI MUHAMMAD JAT

MEMBER

Executive Engineer

Auqaf Sindh

Hyderabad

KHALID NEWAZ DAHAR MEMBER / SECRETARY Executive Engineer Small Dams Division Nagarparkar @ Mithi



No. TC/SDD/NGP/	Dated: /	/20

Email: xensdd_nagarparkar@yahoo.com Phone #, 023-2261801

BIDDING ELIGIBILITY / QUALIFICATION REPORT

NIT NO: TC/SDD/NGP/43 Dated: 20-07-2016

DESCRIPTION OF WORKS.

PROCUREMENT OF MATERIAL GOODS, UNSKILLED LABOUR, HIRING OF MACHINERY, TRACTOR, DATSUN PICKUP, PARTS OF GOVERNMENT VEHICLES, COMPUTER PARTS, ELECTRICAL MATERIAL, OTHER MATERIALS, OFFICE EQUIPMENT AND OTHER STATIONARY ARTICLES ETC... FOR THE YEAR 2016–2017 IN

SMALL DAMS DIVISION NAGARPARKAR @ MITHI.

Name of Procuring Agency:

Executive Engineer Small Dams Division Nagarparkar @ Mithi.

Sr#	Eligibility	M/s Bashir Ahmed Government Contract	or
01	Registration with PEC (if Applicable)	Yes	
02	NTN	Yes	
03	Professional Tax	Yes	
04	Registration with Sindh revenue Board (SRB)	Yes	
	Qualification Criteria		
05	Company Profile	Attached	
06	List of last 5 years similar type works by the contractor / firms.	Yes	
07	Detail of Equipment, Machineries and Transport owned by the contractor / firms.	Attached	
08	Financial Statement Showing the Annual Turnover of last 3 years and income tax last 3 years.	Yes	
09	Responsiveness	Qualified `	

ZAHID HUSSAIN SHAIKH CHAIRMAN Superintending Engineer Small Dams Circle Sindh Hyderabad

MEMBER

Executive Engineer

Auqaf Sindh

Hyderabad

KHALID NAWAZ DAHAR MEMBER / SECRETARY Executive Engineer Small Dams Division Nagarparkar @ Mithi

ATTENDANCE SHEET OF BIDDERS

THE FOLLOWING BIDDERS / AGENCY HAVE PARTICIPATED IN THE BIDDING PROCESS AND OFFERED THEIR RATE CONTRACT FOR THE WORK OF PROCUREMENT OF MATERIAL GOODS, UNSKILLED LABOUR, HIRING OF MACHINERY, TRACTOR, DATSUN PICKUP, PARTS OF GOVERNMENT VEHICLES, COMPUTER PARTS, ELECTRICAL MATERIAL, OTHER MATERIALS, OFFICE EQUIPMENT AND OTHER STATIONARY ARTICLES ETC... FOR THE YEAR 2016–2017 IN SMALL DAMS DIVISION NAGARPARKAR @ MITHI.

S.NO.	Name of Company	Signature
01	M/S M.H Memon Government Contractor	Sport of the second of the sec
02	M/s Abdul Hakeem Chachar & Sons Government Contractor	Huros
03	M/s Bashir Ahmed Government Contractor	Barli

ZAHID HUSSAIN SHAIKH

CHAIRMAN Superintending Engineer Small Dams Circle Sindh Hyderabad

ALI MUHAMMAD/JA

MEMBER

Executive Engineer

Auqaf Sindh

Hyderabad

KHALID NAWAZ DAHAR MEMBER / SECRETARY Executive Engineer Small Dams Division Nagarparkar @ Mithi

COMPERATIVE STATEMENT

STATIONARY ARTICLES ETC... FOR THE YEAR 2016-2017 IN SMALL DAMS DIVISION NAGARPARKAR @ MITHI. PARTS OF GOVERNMENT VEHICLES, COMPUTER PARTS, ELECTRICAL MATERIAL, OTHER MATERIALS, OFFICE EQUIPMENT AND OTHER NAME OF WORK :- PROCUREMENT OF MATERIAL GOODS, UNSKILLED LABOUR, HIRING OF MACHINERY, TRACTOR, DATSUN PICKUP,

20,000	100	16.000	(%)			Page 1	to			
175,000	350	150,000		18,000	90	200	P. Meter	1/1		
21,500	430	20,000	300	162,500	325	500	Each		Supplying P.V.C Wire 3/036 S.C	17 Supp
20,000	400	15,000	400	21,250	425	. 50	P. Dozen		Supplying Panjers 10' long	
32,500	650	30,000	300	17,500	350	. 50	Each	2	Supplying Cell for Torches (555)	15 Sup
60,000	1.200	52,750	(i.e.)	35,000	700	50	Each		Supplying G.I Buckets medium size	14 Sup
11.500	230	10,000	200	55,000	1,100	50	Each		Supplying Torches 2 Cells	13 Sup
190,000	95	170,000	(85)	11,000	220	50	Each		Supplying Torches 3 Cells	12 Su
850,000	85	800,000	8	180,000	90	2000	Each		Supplying Lai basket medium size	11 Su
1.950,000	195	1.850,000	185	1,000,000	100	10000	Each		Supplying Jute Bags large size	10 Su
14,500	290	13,600	2/2	2,000,000	200	10000	Each		Supplying Empty Plastic Bags 50 Kg. 2nd Rhinn	9 8.
43,500	435	41,500	415	14 500	290	50	P. Kg		Supplying Empty Guni Bags S.S 2nd Bhirty	S S
19,000	380	17.500	900	43,000	430	100	P. Kg		Supplying Piece Wan Superior Quality	7 s
600	12	539	0.77	18,500	370	50	P. Kg		Supplying Coir Rope 1" dia	6 S
278,000	1,390	273,600	(1.368	350	=	50	Each		Supplying Sutli Superior Quality	OI.
82,000	820	79,300		276,000	1,380	200	Each		Supplying Piece mate 4' x 6'	4.
4,200	21	3,920	9.60	80 000	800	100	Each		Supplying Ballies 10' long	53
, minodiff)	4 000	20	200	Each		Supplying Thonies Babool 10' long	10
Amount	Rate	Amount	Rate	Amount	Kate			Material	Supplying Towas double 10' x 12'	1
Contractor	Government Contractor								Procurement of Akk-1	-
eem Chachar	M/S Abdul Hakeem Chachar	M/S Bashir Ahmed Government	M/S Bashir Ahmed G	M/S M.H Memon Government Contractor	M/S M.H Mem Cont	Quantity (Tentative)	Unit	ō		
	ers	Rate Contract Quoted by the Bidders	te Contract Que	Ra				i	Description of Items	No.
				•	39					(i)

)	+			
360,000	360	355,000	355	365,000	365	1000	P/ Meter	mare protection		
43,000	430	40,000	400	41,500	415	100	P/ Kg		Supplying P	42
4,500	90	4,250	85	4,000	. 80	90	7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	Supplying Munj Wan Superior Quality.	Supplying A	41
1,380,000	13,800	1,350,000	13,500	1,300,000	13,000	100	ם בפי	Supplying Rubber Pipe 1" dia	ė į	40
320,000	, 3,200	310,000	3.100	300,000	3.000	100	T 1	Computer trolly along with seat		39
270,000	2,700	280,000	2,800	000,000	2,000	100	Each !	Chair with net sheet and back uperior quality (wooden)		38
12,000,000	2,400	11,000,000	2,200	250,000,000	2 500	100	Each	Ordinary Chair (Special Quality)		37
81,000	810	77,000	(//0	00,000	2000	5000	쮜	installation to Piezometer i/c with accesserion	120	36
6,500	65	5,500	35	0000	800	100	Each	Supplying Tube light Complete (Ordinary)		35
3,500	35	3,000	36	0,200	20 03	100	Each	Supplying Bulb 100 Watts.		34
6.710,000	610	6,600,000	600	000,000,0	250	100	Each	Supplying PVC Bulb Holders		33
800,000	4,000	780,000	3,900	754,000	0.020	11000	P. Dav	Supplying Un skilled Labour for 8 hrs		32
1,550,000	3,100	1,500,000	3,000	1,482,500	2000	200	P. Hour	Supplying Dozer with Operator and POL		31
16,200,000	16,200	16,000,000	16,000	15,000,000	2000	500	P. Hour	Supplying Terex Dumper with Operator & POL		30
96,000	3,200	93,000	3,100	200,000	3,000	1000	P/Dav	Supplying Hydraulic Excavator (wheel Type) with Operator & POL		29
66,000	2,200	69,000	2,300	00,000	2000	30	P. Dav	Supplying Generator on hire charges 5 KVA with operator and POL	- A-120	28
5,688,000	7,900	5,760,000	0,000	60000	2000	30	P. Hour	Supplying Generator on hire charges 2.5 KVA with operator and POL	1.00	- 27
5,400,000	7,500	5,472,000	0000,	5 544 000	7700	720	P. Hour	Supplying Engaging Tractor with Trolley alongwith driver.	26 Supplying	ls.
1,368,750	3,730	1,000,000	1 200	5 040 000	7,000	720	P. Day	Supplying Engaging Water Tanker driver and POL	25 Supplying	To.
312,500	125	300,000	3 700	1.314.000	(3,600)	365	P. day	Supplying Engaging Pickup Datsun on hire and Driver without POL	24 Supplying	10
170,000	85	000,001	1	205,000	199	2500	P. Liter	Supplying Diesel Super Quality	23 Supplying	
1.760,000	0,000	100.000		166,000	83	2000	P. Liter	Supplying Petrol Super Quality	22 Supplying	
1762.000	8 800	1.600,000	S/	1,700,000	8,500	200	P. Day	Supplying Grader itc Pol & Driver		1
0,000	110	9,000		10,000	100	100	P. Meter	Supplying PVC Wire 7/064 T.C		
2000	63	4.500	2	5,500	55	100	Each	Supplying Bulbs 200 Watts Phillips		
33,000	330	30,500		32,500	325	100	Each	TEPTING SERVICE TROUB DOUT WATER		T
Amount	Rate	Amount	Rate	Amount	Rate			ing Flactric Rode too W	18 Supplyin	1
keem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ned Government	M/S Bashir Ahmed Government Contractor	M/S M.H Memon Government Contractor	M/S M.H Memon Go Contractor	Quantity (Tentative)	Unit	Description of Items	No. Y	1
	ers	ted by the Bidde	Rate Contract Quoted by the Bidders	Ra						
									-	

7,200	1				1			/WW/		
	40	4,000	40	3,700	(37)	100	Each	April 1	Court Cards black & White Legal	L
3,200	32	3,000	30	2,500	(25)	100	Each		Color Coult pl	2
)		1		Color Cards Black & White A/A	1
. 4.500	45	3 800	38	0,000	(- No. 17. 10.	11	COLOR CARDS B/W PRINT	7
2,800	14	2,600	15	9 100	25	100	Each		Color Paper A/3	3
6,000	15	7,000	i i	2000	10	200	Each		Color Paper legal	12
	ń	4 800	12	4,000	(10)	400	Each		Color Paper A/4	
750.F									COLOR PAPER	II.
2000	026	3.900	260	3,750	(250)	15	Each		Spiral Binding complete (300 to 500 Pages)	ŧ
3.375	225	3,300	220	3,000	(200)	15	Each		Spiral binding complete (200 to 300 Pages)	12 :
1,725	115	1,650	110	1,575	(105)	15	Each		Carlotte Conference (100 to 200 Pages)	19
950	95	900	90	850	85	10	Each		Spiral Binding complete (not to not ages)	=
1,125	75	1,050	70	975	65	15	Each		Spiral Binding complete (50 to 100 Pages)	10
3.900	260	3,750	250	3,450	(230)	15	ו ו		Spiral Binding complete (01 to 50 Pages)	9
1,600	160	1,500	100	1,400	230	л	Fach		Powder Copy 36" x 50"	x
1,200	120	oer'r	100	1 400	140	10	Each	8	Powder Copy 30" x 40"	7
1,000		1 150	-	1.100	110	10	Each	12	Powder Copy 24" x 36"	6
1	707	975	65	900	(60)	15	Each		Powder Copy 20" x 24"	
600	60	570	57	550	(55	10	Each		2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	л
3,300	11	3,000	10	2.700	(9	300	Each		Powder Conv. 18" v 24"	4
1,063	4.25	1.025	4.10	875	3.5	250	Each		Powder Copy A/3	రు
22,500	4.50	20,000	4.	000071	V		1		Powder Copy Legal	12
				17 500	a n	5000	Each		Powder Copy A/4	1
8,200,000	8,200	1,000,000							РНОТОСОРУ	=
000,000,121	0000,#2	7 990,000	7 990	8.000 000	8,000	1000	SFT		Supply of Stone Boulder 9" Thick (Laki Quarry)	45
1000000	24 600	12 000 000	24,000	12,100,000	24,200	500	Each		installation of Hand Pump	44
7 750 000	15 500	7,500,000	(15,000)	8,000,000	16,000	500	Each		Supplying riand rump (Machine)	
Amount	Rate	Amount	Rate	Amount	Rate				Sumphine Head P. (At 11)	- 43
Keem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government actor	M/S Bashir Ahmed Government Contractor	on Government	M/S M.H Memon Government Contractor	(Tentative)	Unit		rescription of items	, Z
						Ouantity				Sr.
6	ers	ted by the Biddo	Rate Contract Quoted by the Bidders	Rat					,	
								2		





					+			,	
5,000	50	4,800	48	4,500	(45)	100	P/sq ft"	And the size loose Coating	
11,200	56	10,800	54	10,000	50	200	Each	Aid his distal	
10,500	35	9,600	. 32	9,000	30	300	Each .	Plastic Coating Loose A/2	
12,000	30	11,200	28	10,000	25	400	Each	astic Coating Local In 11	
12.500	25	11,000	. 22	10,000	20	500	Each	Plastic Coating Loose Legal	
							a a	Pastic Coating Loss A/A	
36,000	360	37,000	370	35,000	350	100	Each		YIII.
23,500	235	23,000	230	22,000	220	300	Each	A/3 Binding	6 A
18,000	90	16,600	83	16,000)(×		T aci	Cloth Bundling	5ī
16,400	82	16,000	80	15,000) (a	200	Tack I	Viro Binding A/4 1 to 60 Pages	4
15,600	52	15,000	50	15,500		200	T (Strip Binding A/4 1 to 60 Pages	3 S
006.77	90	1 5000	1 3	12 300	1	300	Each	Tape Binding A/4 1 to 60 Pages	2 1
002 76	J1 J1	25,000	50	22,500	(45)	500	Each	Spiral Binding A/4 1 to 60 Pages	1 8
								BINDING	VII.
6,500	65	5,600	56	5,500	55	100	P/sq ft"	And big size Black & White Printout	
4,200	42	4,000	40	3,500	35	100	Each	DIACK & WHITE PRINTOUL AIS	
3,000	15	2.600	13	2.400	(12)	200	Laci	Rick & Witte Deleter Att	53
4,200	14	0000,0	ī	0,000		200	TI S	Black & White Printout Legal	12
		8 000	13	3,000	10)	300	Each	Black & White Printout A/4	1
								B/W PRINTOUT	<u> </u>
7,750	155	7.500	150	7.000	140	50	P/sq ft"	P.P. Paper	
12,800	128	12,500	125	12,000	(120)	100	P/sq ft"	rnoto Card	
20,000	200	19,000	190) 18,000	(180	100	Each	And big size Multi Color on Paper	
13,200	132	12,000	120	11,000	(110	100	Each	Multi Color Printout & Multi Color Copy A/3	
14,000	70	13,600	68) 13,000	65	200	Each	The color control of Multi Color Copy Legal	
18,600	62	18,000	60) 16,500	(35	300	Each	Multi Color District & Multi Color	13
						300	П	Multi Color Printout & Multi Color Copy A/A	
Amount	Rate	Amount	Rate	Amount	Rate			MULTI COLOR PRINTOIT & MILITI COLOR CORV	Ŋ
ceem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government	M/S Bashir Ahmed Government Contractor	M/S M.H Memon Government Contractor	M/S M.H Memo	Quantity (Tentative)	Unit .	Description of Items	No.
	irs.	ted by the Bidde	Rate Contract Quoted by the Bidders	Ra				1.0	Ę

	10.00	1000000 CO.	CONTRACT		(
74 000	370	72,000	360	70,000	(350)	200	Each	Enlargement of Maps (12 x 17 = $36 \times 50 \text{ size}$)	Enlargement of Ma	18
27,800	278	27,500	275	27,000	270	100	Each	Enlargement of Maps (12 x 17 = 30 x 40 size)	Enlargement of M.	7.1
25,000	250	24,000	240	23,000	(230)	100 .	Each	Enlargement of Maps (12 x 17 = 27 x 34 size)	Enlargement of M.	i 6
19,800	198	20,000	200	19,500	(195	100	Each	Enlargement of Maps (12 x 17 = 25 x 36 size)	Enlargement of M.	10
13,000	130	12,500	125) 12,000	120	100	Each	conargement of Maj s $(12 \times 17 = 20 \times 30 \text{ size})$	chargement of M	ā :
7,000	70	6,800	68	6,500	(6)	100	Each	(271) Selling (1 × 1/ = 12 × 20 SIZE)		14
13,000	65	12,000	60	11,000	(3	200	Each	Ann (in the second seco	Enlargement of M	13
27,500	Occ	20,220	S I S			3	7	Cloured front page Cover with caption	Cloured front pag	12
5,000	1 0	00 00 00	222	25,000	300	50	P Map	aps	Photo state of Maps	=
9,000	18	8.500	17	7,500	15	500	P/Paper	Photo copy on Powder Machine (A-3 size both side)	Photo copy on Po	10
5,000	OI	5,000	ขา	4,000	(4)	1000	P/Paper	Photo copy on Powder Machine (A-4 size one side)	Photo copy on Po	9
6,000	6	5,000	S)) 4,000	(4)	1000	P/Paper	owder Machine	Photo copy on Powder Machine	o
19,000	190	20,000	200	18,000	(180)	100	Each	Tap Bidding / Cloth Binding (300 to 500)	Tap Bidding / Clo	
12,500	125	12,000	120	11,000	(110)	100	Each	Tap Bidding / Cloth Binding (200 to 300)	Tap Bidding / Clo	
17,000	85	16,000	80	15,000	(75)	200	Each	Tap Bidding / Cloth Binding (100 to 200)	Tap Bidding / Clo	וט
12,400	62	12,000	60	11,000	(55)	200	Each	Tap Bidding / Cloth Binding (50 to 100)	Tap Bidding / Clo	4
9,600	48	9,400	47	9,000	45	200	Each	Tap Bidding / Cloth Binding (01 to 50)	Tap Bidding / Cle	. 0:
10,000	50	9,000	45	8,000	40	200	Each	arge Size	B/W Scanning Large Size	18
30,000	60	26,500	53	25,000	(30)	500	Each	Large Size	Color Scanning Large Size	-
								SCANNING		. >
5.200	52	5,000	50	4,800	48	100	P/sq ft"		And big size Lamination	< 0
10,400	52	9,600	48	9,000	45	200	Each	Lamination A/3	Plastic Coating Lamination A/3	4.
22,000	55	22,000	55	20,000	(3)	400	Each	Plastic Coating Lamination 10 x 14	Plastic Coating L	છ
17,500	35	16,000	32) 15,000	(3)	500	Each	Lamination Legal	Plastic Coating Lamination Legal	13
30,000	30	27,000	27	25,000	25	1000	Each	Lamination A/4	Plastic Coating Lamination A/4	-
								PLASTIC COATING LAMINATION		Į,
Amount	Rate	Amount	Rate	Amount	Rate					
eem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government actor	M/S Bashir Ahmed Government Contractor	on Government actor	M/S M.H Memon Government Contractor	Quantity (Tentative)	Unit	Description of Items	•	No.
Œ.	ers	ted by the Bidde	Rate Contract Quoted by the Bidders	'Rai		6	389		F .	2

2 24,950 2 11,600 2 3,600 2 6,780 2 2,500 1 3,990 6 900 2 14,600 2 1,010 50 120 6 6,800 50 225 10 490 20 890	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying Printer HP 1320 Lazer jet Supplying CD's (Re-writeable) (Sony) Supplying Replacement of Cartage of Print r. Repair of Cartage of Printer Supplying Computer Power Cable (Superior Quality) Supplying USB(Data Traveler) 16 G.B
	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Speaker (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying Printer HP 1320 Lazer jet Supplying Replacement of Cartage of Printer. Repair of Cartage of Printer Supplying Computer Power Cable (Superior Quality) Supplying Printer USB Cable
	Each Each Each Each Each Each Each Lach Each Lach Each Lach Lach Lach Lach	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying Printer HP 1320 Lazer jet Supplying CD's (Re-writeable) (Sony) Supplying Replacement of Cartage of Print r. Repair of Cartage of Printer Supplying Computer Power Cable (Superior Quality)
	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying RAM 4 GB Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying Printer HP 1320 Lazer jet Supplying Replacement of Cartage of Printer. Repair of Cartage of Printer
	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying Printer HP 1320 Lazer jet Supplying CD's (Re-writeable) (Sony) Supplying Replacement of Cartage of Printer.
	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1. 7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying CD's (Re-writeable) (Sony) Supplying Replacement of Cartage of Print r.
	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying CD's (Re-writeable) (Sony)
	Each Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality) Supplying Monitot 19" SVGA View Sonic Supplying Printer HP 1320 Lazer jet
	Each Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality)
	Each Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality) Supplying Mouse A4 tech Wheel (Superior Quality)
	Each Each Each Each Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality) Supplying Key Board (Superior Quality)
	Each Each Each	Supplying Mother Board of Intel 1. 7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer) Supplying Speaker (Superior Quality)
	Each Each Each	Supplying Mother Board of Intel 1. 7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta Supplying CD Rom (DVD writer)
	Each Each	Supplying Mother Board of Intel 1. 7 Supplying RAM 4 GB Supplying Hard Disk 500 GB Satta
	Each	Supplying Mother Board of Intel 1.7 Supplying RAM 4 GB
	Each	Supplying Mother Board of Intel 1. 7 Supplying RAM 4 GB
	Each	Supplying Mother Board of Intel 1.7
	Each	
	+	Supplying Intel 3.4 GHz. 17
	AL	OFFICE MATERIAL
100	les Sft	Printing of Large size Colored Maps of Computer Plates
100	Sft	reduction of Drawing on Transparencies 50%
200	Each	Reduction of Maps $(36 \times 50 = 12 \times 17 \text{ size})$
200	Each	Reduction of Maps $(30 \times 40 = 12 \times 17 \text{ size})$
200 (Each	Reduction of Maps $(27 \times 34 = 12 \times 17 \text{ size})$
200 (Each	Reduction of Maps $(26 \times 36 = 12 \times 17 \text{ size})$
200	Each	Reduction of Maps $(20 \times 30 = 12 \times 17 \text{ size})$
200	Each	Reduction of Maps (15 x 20 = 12 x 17 size)
Rate		
Quantity (Tentative) M/S M.H Memon Government Contractor	ems Unit	Description of Items
	ie.	
	Unit Each Each Each Sft	T

3,800	190	3,000	(150)	3,500	175	20	12/2	supplying rhenyl in tin.	
20.000	1,000	16,000	(800)	18,000	900	20	Each	Company to the state of the sta	
800	40	500	25	600	30	20	Each	Supplying Towel Large Size	40 s
- 1,000	50	600	36	000	30) t	7 [Supplying Sharpener Superior Quality	39 s
1,000	100	900		000	5 8	30.	Fach	Supplying Rubber pelicon.	38 s
10,000		900	9)	950	95	10	P. Pkt	Supplying Pencil HB.	37 5
10,000	100	9,000	96	9,500	95	100	Each	Marker 70 for drawing purpose 0.7	36
38,000	380	35,000	(350)	37,500	375	100	Set	Colored Marker Set of 12	
13,000	130	11,000	(110)	12,000	120	100	Each	Ring File Fiber	
4.400	2,200	4,000	2,000	4,200	2,100	13	Each	Supplying and Fixing Electric Heater	
2,400	120	1,800	(90)	2,000	100	20	P. Pkt	Supplying Ball Point Pen dozen.	
70,000	700	65,500	655	67,000	670	100	P. Ream	Supplying White raper Single Sheet Legal Size.	
60,000	600	55,000	(550)	57,000	570	100	P. Ream	Sumplify 11/1. In Section 21 of 1.	
18,000	90	14,000	70	15,000	75	200	Each	Supplying White Paper Single Sheet Ad Sing 100 Call Supplying White Paper Single Sheet Ad Sing 100 Call Supplying White Paper Single Sheet Ad Sing 100 Call Supplying White Paper Single Sheet Ad Sing 100 Call Supplying White Paper Single Sheet Ad Sing 100 Call Supplying White Paper Single Sheet Ad Single Sheet Sheet Supplying White Paper Single Sheet Supplying Sheet Supplying Supplyin	
20,000	200	18,000	180	19,500	190	200	1 7.12	Supplying Pakka File Cover	29
5,000	067	300,±	(1)			100	D D14	Supplying Tissue3 Paper. (Superior Quality)	28
1,000	3 1	4 600	730	4 800	240	20	Each	Supplying Air Freshener for Vehicles.	27
4 600	220	4 200	210	4,600	230	20	Each	Supplying Room Spray.	26
4.300	430	4,100	410	4,180	418	0.1	P. Dozen	Supplying P.V.C Switch i/c Push Button.	25
37,500	750	35,000	(700)	36,250	725	50	P. Set	Supplying Electric Tube light Complete.	1.1
3,000	60	2,500	30	2,750	55	50	Each	supplying starter (Philips).	2 1
11,000	220	10,000	200	12,500	250	50	Each	Supplying Saver Bulb. 15w, 18w, 24w.	23 1
13,000	260	12,500	(250)	13,750	275	50	Each	Supplying Tube light Rods (philips & etc.)	20 1
4,500	45	3,500	35	4,000	40	100	P. Meter	Supplying F.V.C. wire 3/029 S.C.	2
11,500	1,150	10,700	(1,070)	11,000	1,100	10	Each	Supprying Stapler Medium size (Superior Quality)	30 3
14,400	3,600	14,200	3,550	14,360	3,590	4	Each	Country Country Country Country	19
10,400	520	9,980	(499)	10,200	510	20	Each	Compliance Co. I. I	18
Amount	Rate	Amount	Rate	Amount	Rate			Cumbing HSB/Dat T. 1 1 0 0 0	17
keem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government actor	M/S Bashir Ahmed Government Contractor	M/S M.H Memon Government Contractor	M/S M.H Memo	(Tentative)	Unit	Description of Items	, Z
						Outsite			Sr.
	ers	ted by the Bidd	Rate Contract Quoted by the Bidders	. Rat		39			1
								e ·	



		_	J	A		Page 8			
31.200	7,800	32,000	8,000	30,200	(7,550)	4	Each 2	Supplying Stabilizer for Computer (3000 watts)	L
13.250	2,650	12,500	(2,500)	13,000	2,600	S)	Each	Cumpling Calabian C	
53,000	530	52,000	520	55,000	. 550	100	P. PKt	Cumpling Therman	
19,500	195	17,000	(170	19,000	190	100	7. 78	Supplying Pointer Pen 0.7	64 ·
15,500	3,100	16,000	3,200	19,000	0000			Supplying Pointer Pen 0.5.	63 s
6,800	040	0,000	5 6 6	15000	2000	וכ	P .lob	Supplying Rewinding of Electric Notor.	62 5
00000	240	6 600	330	6.000	300	20	P. Job	Supplying Service of Ceiling Fan 56" size.	61 9
38,000	1.900	34,000	1.700	350,000	17,500	20	P. Job	Supplying Rewinding of Ceiling Fan.	60
1,750	35	1,500	(30)	1,750	35	50	P. Meter	Supplying Telephone Wire White.	
1,100	21	> 900	45	1,000	50	20	Each	Supplying Solution Tape (Nitto).	
3,360	168	> 2,800	(140)	3,200	160	20	Each	Supplying Glue Stick. (LS)	
1,600	80	1,200	60	1,400	70	20	Each	Supplying Correction Pen (Whito).	
11,500	230	10,500	(210)	12,000	240	50	Each	Supplying Binding Booklet Large size	
6,500	130	5,500	110	6,500	130	50	Each	C. 1. p. 1.	
2,100	42	1,750	(35)	2,000	40	50	P/Book	Sumbling Birdin B III	
10,500	35	7,500	(25)	9,000	30	300	Each	Sundying Graph Page	
18,000	600	12.000	100	15,000	500			Supplying Katcha File Cover.	52
0,000	2,000	12 000		1,000	500	30	Each	Supplying Dust bin (Plastic).	51
9 1	4 000	7,600	3.800	7.800	3,900	2	P/ Set	Supplying Table Set Wooden.	50
2 400	120	008.1	90	2,200	110	20	Each	Supplying Stamp Pad.	49
10.000	1,000	8,500	850	9,000	900	01	Each	Supplying Calculators, Large Size	48
6.500	1,300	5,500	(1.100)	6,000	1,200	OI .	Each	Supplying Wall Clock	4/
5,000	50	3,000	30	4,000	40	100	P. Pkt	Supplying Staple pins required size.	10
2,600	130	2,000	100	2,400	120	20	P. Pkt	Supplying Color Pencil.	45
6,000	120) 4,500	(90)	5,000	100	50	Each	Supplying Marker pen.	44
700	350) 600	300	640	320	2	Each	Supplying registers 400 pages.	40
4,400	220	3,600	(180)	4,000	200	20	P. Tin	supplying rims in tin,	
Amount	Rate	Amount	Rate	Amount	Rate			Complete Programme	3
ceem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government actor	M/S Bashir Ahmed Government Contractor	M/S M.H Memon Government Contractor	M/S M.H Mem	Quantity (Tentative)	Unit	Description of Items	No.
	YTS	Rate Contract Quoted by the Bidders	e Contract Quoi	Rat				,	Sa .

							AWW.		
22,800	5,700	22,400	5,600	22,000	(5,500)	4	Hagh,	Supplying Repair of Revolving Chair duly Canning	16 S
46,000	11,500	44,000	11,000	40,000	10,000	4	Each	Supplying Revolving Chair	
14,400	7,200	15,000	7.500	14,000	(7,000)	13	. P. Pkt	Supplying Repair of VIP Chair Leather cushion	
17,200	4,300	16,800	4,200	16,000	(4.000)	4	Each	Supplying VIP Chair Leather cushion	
62,000	15,500	60,000	15,000	56,000	(14,000)	4	Eạch	Supplying Steet Almirah	
11,000	2,200	10,500	2,100	10,000	(2,000)	oı	Each	Complete Control of the Control of t	
18,500	3,700	18,250	3,650	17.500	(3,500)	וט	P. Dozen	Supplying Flate Medium size. (Superior Quality)	
11,400	3,800	10,800	3,600	10,500	3,500	S	P. Set	CL.: Pl	
42,000	4,200	42,000	4,200	40,000	4,000	10	P. Set	Supplying Tea Set Superior Quality.	50. 30
24,000	4,800	23,000	4,600	22,500	(4,500)	ઝા	Each	Supplying Koom Heater Fan Type	
19,000	3,800	18,500	3,700	17,500	3,500	5	Each	Supplying Room Heater Coil Type	
8,000	1,600	8,500	1.700	7,500	1,500	បា	Each	Supplying Water Cooler of 30 Liters	n :
15,000	300	14,500	290	13,500	270	50	P/ Sft	Supplying Providing Table Glasses Super Quality	
8.500	1,700	8,000	1,600	7,500	(1,500)	OI.	Each	Supplying Repair to Office Table with lock and Key.	
35,000	700	33,500	670	32,500	650	50	Each	Supplying Polishing of Office Chairs i/c Caning	
40,000	800	36,500	730	35,000	(700)	50	Each	Supplying Repair to Office Chairs including Caning.	
								EURNITURE AND FIXTURE	
39,000	390	98,000	086	40,000	400	100	R.Rim	Ordinary Paper Large size	
110,000	1.100	000,101	1,010	105,000	1,050	100	R.Rim	Computer Paper A-3 Size	
118,000	590) 110,000	550	115,000	575	200	R.Rim	Computer Paper A-4 Size	
4,000	80	3,000	60	3,750	75	50	Each	Highlighter	71
11,500	115) 11.000	110	13,000	130	100	P/Dozen	File Cover Ordinary	70
2,500	25) 1.500	15	2,000	20	100	Each	File Cover Brown Card	69
43,000	430	41,000	410	44,000	440	100	Rem	Supplying Photo state copy A4. size.	68
40,000	20,000	39,200	19,600	38,000	(19,000	13	Each	Supplying Stabilizer for A.C (10000 watts) 4 Rellay	
Amount	Rate	Amount	Rate	Amount	Rate				
cem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ned Government	M/S Bashir Ahmed Government Contractor	n Government actor	M/S M.H Memon Government Contractor	Quantity (Tentative)	Unit	Description of Items	No.
*	žrs	Rate Contract Quoted by the Bidders	e Contract Quo	Rat		W . 14	*•5		

4.500	000	4,000	100				· · · · · · · · · · · · · · · · · · ·		
	3	3 1	200	4 200	780	1 15	Each.	Supplying Energy Sever 30 Volt	41 S
6,900	230	6,600	220	6,000	200	30	Each	Supplying Energy Sever 20 Volt	40 s
4,500	4.500	4,200	4,200	4,000	(4,000)		Each	Supplying Briefig Board 4x6	
3,800	3,800	3,500	3,500	3,000	(3,000)	1	Each	Supplying Briefig Board 4x4	
32,500	6,500	32,000	6,400	30,000	6,000	ុំហ	Each	Supplying Blanket Superior	
29,000	14,500	25,000	12,500	24,000	(12,000)	13	Each	Supplying Fiber Water Tank	
36,000	12,000	33,000	11,000	30,000	(10,000)	ω.	Each	Supplying Sofa Set 2 Setters	
49,940	24,970	49,920	24,960	49,900	(24,950)	13	Each	Supplying Sofa Set 5 Setters	
49,960	24,980	49,980	24,990	49,900	(24,950)	to	Each	Supplying Supplying and fixing Split A.C 1.5 Ton Dawalnce	
120,000	6,000	120,000	6,000	114,000	(5,700)	20	Each	Supplying Pedistal Fan (Superior Quality)	
50,000	10,000	42,500	8,500	40,000	8,000	101	P/Set	Supplying Dinner Set (Plastic) S/ Quality	
80,000	16,000	75,000	15,000	70,000	(14,000)	S)	P/Set	Supplying Dinner Set (China Marble)	
74,940	24,980	74,850	24,950	74,760	(24,920)	છ	Each	Supping LCD 32"	
78,000	19,500	76,000	19,000	72,000	(18,000)	4	Each	Suppling Single Bed Wooden with Multi Foam & Matters	
15,000	300	11,000	220	10,000	200	50	Each	Supplying Tea Cup	
30,000	600	27,500	- 550	25,000	500	50	Each	Supplying Glass Toyo Nasic	
40,000	8,000	36,000	7,200	35,000	7,000	S	Each	Supplying Woolen Carpet 10 ' x 12'	
95,000	950	85,000	850	80,000	800	100	P/meter	Supplying Office Curtain with fixing	000
31,000	15,500	30,000	15,000	29,400	14,700	13	Each	Supplying Wooden Cupboard with Front Glass	
81,000	2,700	78,000	2,600	75,000	2.500	30	Each	Supplying Office Chair duly canning	
44,000	11,000	43,200	10,800	40,000	(10,000)	4	Each	Supplying Computer Trolley Table	
3,600	900	3,400	850	3,200	800	4	Set	Supplying Tray of Four piece Set+	X3971
27,000	2,700	26,000	2,600	25,000	2,500	10	Set	Supplying Bed Sheet Set Superior Quality	
48,000	12,000	46,000	11,500	44,000	(11,000	4	P/set	Supplying Plastic Chair with Table set	18
10,000	5,000	9,600	4,800	9,000	4,500	2	Each	Supplying Replacement of Easy Chair Tali Wood	17
Amount	Rate	Amount	Rate	Amount	Rate				
keem Chachar : Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government actor	M/S Bashir Ahmed Government Contractor	n Government actor	M/S M.H Memon Government Contractor	Quantity (Tentative)	Unit	Description of Items	No.
	ers	ted by the Bidde	Rate Contract Quoted by the Bidders	Rat		8			340 B

	(10000	- Sah 400/1		
7,000	(3,500)	7,400	3,700	7,600	3,800	12	Each/	Supplying Replacement Cross Glass	13
5,000	2,500	5,200	2,600	5,400	2,700	2	Each	Supplying Replacement Thust Bearing	12
8,000	(2,000)	8,400	2,100	8,800	. 2,200	4	Set	Supplying Replacement of Horn	
17.000	8,500	18,000	9,000	18,400	9,200	13	Each	Supplying Replacement of Clutch Plate	180
9,400	4,700	10,000	5,000	10,400	. 5,200	, 13	Set	Supplying Replacement of Piston pin Set	9
11,000	5,500	12,000	6,000	12,400	6,200	2	Each	Supplying Replacement of connecting Rod Bush	00
31.200	7.800	32,000	8,000	32,800	8.200	4	Each	Supplying of New Battery 12 V 48 Amp	7
18,000	9,000	18,400	9.200	19,000	9,500	12	Set	Supplying Replacement of Gas Kit	6
30,000	15,000	31,000	15,500	32,000	16,000	12	Set	Supplying Replacement of Car Borator Kit	
10,000	5,000	10,400	5,200	11,000	5,500	2	Set	Supplying Replacement of timing Belt	
36,000	18,000	38,000	19,000	39,000	19,500	2	Set	Supplying Replacement of Value set	03
49,900	24,950	49,980	24,990	49,900	24,950	2	Set	Supplying Replacement of Engine kit	13
40,000	20,000	43,000	21,500	44,000	22,000	2	Job	Supplying General Overhauling of Engine	_
								REPAIR OF GOYT, VEHICLE SUZUKI JEEP/JIMNY	XIII.
76,000	19,000	72,000	18,000	70,000	(17,500	4	Each	Supplying Battery 210 AGS for UPS	21
49,960	24,980	49,940	24.970) 49,900	24,950	2	Each	Supplying and Sixing Ups System With Battery	50
3,040,000	3,800	2,880,000	3,600	2,800,000	3,500	800	Each	Supplying and Sampling Fruit Trees Complete	49
320,000	3,200	310,000	3,100	300,000	3,000	100	RFT	Supplying Boring & Investigation of Sample RST 5000 Ft for Earth (Including all Accessories of geo techincial investigation and sapling	48
38,000	19,000	36,000	18,000	34,000	(17.000	2	Each	Supplying Electric Geezer	47
11,600	5,800	11,800	5,900	11,400	5,700	2	Each	Supplying Dinner Set	46
5,200	2,600	5,100	2,550	5,022	2,511	2	Each	Supplying Tea Set	45
620	310	620	310	600	300	2	Each	Supplying Fax Machine & Roller	44
2,580	860	2,550	850	2,490	830	3	Each	Supplying Circuit Breaker for A/C	43
3,600	360	3,500	350	3,200	(320)	10	Each	Supplying Energy Sever 40 Volt	42
Amount	Rate	Amount	Rate	Amount	Rate				
eem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government	M/S Bashir Ahmed Government Contractor	M/S M.H Memon Government Contractor	M/S M.H Mem	Quantity (Tentative)	Unit	Description of Items	Sr.
	ers	ted by the Bidde	Rate Contract Quoted by the Bidders	Rat	el		•		

26,800	(6,700	28,000	7,000	27,600	6,900	4	Sec	Supplying Replacement of Seat Cover 8 Piece	38
67,000	(16,750	68,000	17,000	67,400	16,850	4	Each	Supplying Radiator	37
30,000	15,000	32,000	16,000	31,000	15,500	2	Job	Repairing Half Engine Labour Charge	36
70,000	14,000	72,500	14,500	71,500	14,300	5	Each	Supplying Fixing of Tyre Tube (Geniune)	35
) . 1,400	350	1,480	370	,1,560	390	4	. Each	Supplying Replacement of Meter Bulb	34
30,000	7,500	31,200	7,800	32,000	8,000	4	Each	Supplying Replacement of Indicator	33
60,000	15,000	64,000	16,000	62,000	15,500	4	Each	Supplying Replacement of Head Light	32
18,000	4,500	19,200	4,800	20,000	5,000	4	Each	Supplying Replacement Break Cable	31
12,000	6,000	13,000	6,500	12,600	6,300	13	Each	Supplying Replacement Guide Set	30
10,000	5,000	10,200	5,100	10,600	5,300	12	Each	Supplying Replacement of Front Sesser	29
) 4.000	2,000	4,200	2,100	4,400	2,200	12	Each	Supplying Replacement Universal cross	28
8,000	2,000	8,800	2,200	8,400	2,100	4	Each	Supplying Replacement Break Seal	27
) 10,000	5,000	10,600	5,300	11,000	5,500	12	Each	Supplying Replacement of Rear & Front Tyre Bearing	26
39,400	19,700	40,000	20,000	39,800	19,900	2	Each	Supplying Replacement of Staring Box	25
3,800	(1,900	3,900	1,950	4,000	2,000	12	Each	Supplying Replacement Clutch Kit	24
) 12,000	6,000	12,400	6,200	13,000	6,500	19	Each	Supplying Replacement of Water Body	23
) 2.800	700	3,200	800	3,000	750	4	Each	Supplying Replacement of Fan Belt	22
8,000	2,000	8,400	2,100	8,800	2,200	4	Each	Supplying Replacement Door Handle new	21
24,000	6,000	26,000	6,500	24,800	6,200	4	Job	Supplying Repair of Bonnet	20
20,000	5,000	20,800	5,200	22,000	5,500	4	job	Supplying Replacement Plug Wire	19
) 12,000	3,000	12,800	3,200	14,000	3,500	4	Each	Supplying Replacement Kamani Bush	18
26,000	6,500	26,400	6,600	27,200	6,800	4	Set	Supplying Replacement Tyre Rod Ball joint	17
22,000	5,500	24,000	6,000	24,800	6,200	4	Set	Supplying Replacement Ring Set	16
30,000	7,500	31,200	7,800	31.600	7.900	4	Set	Supplying Replacement Break Shoe (Set)	15
3,400	(1.700	3,600	1.800	3,800	1,900	12	Each	Supplying Replacement Arm Bush	14
Amount	Rate	Amount	Rate	Amount	Rate				
keem Chachar Contractor	M/S Abdul Hakeem Chachar Government Contractor	ed Government	M/S Bashir Ahmed Government Contractor	n Government actor	M/S M.H Memon Government Contractor	Quantity (Tentative)	Unit	Description of Items	No.
	Yrs .	ed by the Bidde	Rate Contract Quoted by the Bidders	. Rat					

						8	THE PARTY OF THE P	Cambridge & fixing Engine Foundation.	62
The state of the s					6,500	S	120		
0) 18,000	0000	19,200	00 6.400		6 10		Each	Supplying Replacement Switch lock.	62
6,000	2,000	6,600	00 2.200	0 6,900	2,300	در	7	Supplying Replacement of Carpet	61
16		0 108,000	00 . 3,600	0 111,000	3.700	30	P R	Supplying Replacement of Fan	60
	00 (1,500	0 4,800	40 1,600	0 4,740	1,580	· ·	Each	Supplying Ret air of Puncture	59
		0 2,200	00 220	2,500	250	10	Each	Supplying Replacement of Nut & Boit	58
	V.4		00 4,100	12,600	4.200	3	Each	Supplying Replacement of State Million	57
			5,400	16,800	5,600	دره	Each	Supplying inchinement of Cid Minor	5
					6,400	3	Each	Cl.ing Replacement of Top Class Mirror	n 5
18.000					15,700	లు	Each	Complying Repair of ordinary Dent & Paint)1 J1
45,000	0 (15,000	46,800	15.600		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		Each	Supplying Repair of Floor	54
4,500	0 (1,500	4,800	1,600	4,650	1,550	در	1 [Supplying Replacement of Plug	53
	800	5,100	0 850	5,400	900	6	Fuch	Supplying Wheel Balance	52
	(12	50,400	0 2.100	52,800	2,200	24	Each	Supplying of Silencer	51
/ ~			0 1.100	4,200	1,050	4	Each	Supplying Replacement of Point	50
			0 450	1,920	480	4	Each	Supplying Lock	49
		020,0	0 1.580	6,360	1,590	4.	Each	outprying out	i
6.000		062.9			000	24	Each	Sumplying Replacement of Petrol Filter	48
16,800	700	19,200	if (18,000	750	2. 44	Each	Supplying Replacement of Air Filter	47
9,600	400	10,320	430	10,800	450	2	r aci	Supplying Replacement of Oil Filter	46
) 10,800	450	11,040	460	11,400	475	24	Each	Supplying Alignment of Vehicle	45
40,000	2,000	42,000	2,100	46,000	2,300	20	Each	Supplying of 4 × 4 Gear Koo	44
1000		000/61	6,500	12,600	6,300	22	Each	Supplying or con-	
12,000	6,000	12,000		000'91	4,500	4	Each	Sumbling of Door Front & Back	
) 16,000	(4,000	17 200			1,000	4.	Each	Supplying Replacement of Petrol Gauge	42
16,000	4,000	16,800		18.000	4 500	. 4	Each	Supplying Set with Cushion	41
64,000	16,000	67,200	16,800	66,000	16 500		Eacn	Supplying Replacement of Wiring	40 s
44,000	(11,000	48,000	12,000	46,000	11,500	4	1	Supplying Replacement of seats i/c welding	39 S
20,000	5,000	21,200	5,300	22,000	5,500	4	Each		
Amount	Rate	Amount	Rate	Amount	Rate				
									, .
Contractor	M/S Abdul Hakeem Chachar Government Contractor	d Government	M/S Bashir Ahmed Government Contractor		M/S M.H Memon Government Contractor	Quantity (Tentative)	Unit	Description of Items	Sr.
	•								
	3	ed by the Bidde	Rate Contract Quoted by the Bidders	Rate					-

18,300 6,000 18,000 46,800 2,500 45,000 18,900 1,000 18,000 4,800 1,500 4,500 6,600 2,000 6,000 7,800 1,200 7,200	1.300	7 620					
(500) 1 (2500) 4 (1,000) 1 (2,000)			1 270	6		Supplying repair / seeming or summer seem	
(2,500) 1 (1,000) 1	2,200	6,450	2,150	3	Job	Completing Pagair / certing of Kamani Patta with Greasing etc	1
(2,500) 1 (1,000) 1		4,/10	1,570	53	Each	Supplying Repair of Speedo Mater Cable	70
(5,000 (2,500)	1 600	1			Job	Supplying Full Service	69
(2,500)	1,050	19,800	1,100	18	5	outprying ruining	
6,000	2,600 46	48,600	2,700	18	Job	Sumplying Tuning	83
(6,000)		10,200	0,400	o.	Job	Supplying Repair of Engine Oil Seal kit	67
	6 100 18	1000	6400			Supplying repairing or smooth at the	
21,000	3,500	19,200	3,200	6	Job	Completing Paraising of Shock & its Refilling	00
				ć	gor	Supplying Cutting & Jointing Iron Plate Pes 12"	65
6,600 (2,000) 6,000	2.200	6.900	2.300	م		TOTAL TOTAL CONTROL OF THE PROPERTY OF THE PRO	
2,300	2,700	15,600	2,600	6	Set	Supplying foot mate Superior Quality	64.
1							
nt Rate Amount	Rate Amount	Amount F	Rate				
			0				, .
	Contractor		Contractor	(Tentative)	Unit	Description of Items	Sr.
ment M/S Abdul Hakeem Chachar	M/S Bashir Ahmed Government		M/S M H Memon Government	Quantity			Ď.
							*
Bidders	Rate Contract Quoted by the Bidders	Rate Cont			•		*

reasonable hence the same area recommended for favour of approval. The lowest rates quoted by various Government Contractors and marked with "Red Line" are lowest

ALI MUHAMMAD JAT MEMBER

Executive Engineer
Auqaf Sindh
Hyderabad

ZAHID HUSSAIN SHAIKH CHAIRMAN

Superintending Engineer Small Dams Circle Sindh Hyderabad

KHALID NAWAZ DAHAR
MEMBER / SECRETARY

Executive Engineer
Small Dams Division
Nagarparkar @ Mithi

No.TC/SDD/NGP/43 of 2016, Mithi, Dated: 20_07_2016

واك/كوتيشنز جي گھرائڻ لاءِ نوتيس

سمورن داجسيني رکندڙ فردن نيڪيدآرن ۽ ڪيپنين کان ايس ڀي پي آر اي رولز 2010 درمير ٿيل 2013 جي شرطن ۽ ضابطن مطابق سال 2017_2016 جي لاء متيربل گان ان اسڪلد ليبرجي فراهني، مشينري ٽريڪٽر، ڊائسن پڪاپ جي ڀاڙي تي حصول سرڪاري گاڏين جي پارٽس، ڪمپيوٽر پارٽس، اليڪٽريڪل متيربل ۽ آفيس جي ايڪوئيسنٽس، بشي مثيربل ۽ اسٽيشنري متيربل جي سيلاء لاء مهربند واڪرڪوئيشن طلب ڪجن تا

هن أشنهار جي اشاعت كان وني آخري تاريخ يعني 2016_158 يوقت منجهتد 12:00 وكي نائبن دلجسبي ركندز واك أيندزن البكيدان جي واك/ كوليشن جا كورا دستاويز مرحود رهنظ جيكي 2016_08_16 بوقت الم 01:00 وكي نائبن وصول كيا ۽ شركت جي خواهشمند واك ديندون يا سندن باختيار نمائندن توڙي لينڊر كولن/ايواليوشن كميشي جي رويرو كوليا ويندا

نيڪيفارڻ کي 100000 ريايد سيڪيورٽي طور ڪال ديازت جي صورت و جمع ڪرائڻا پرندا ڪال بهاڙت ڪرٽيشن سان شامل ڪرڻي پرندي

 واڭ نستاريزن جو مكمل سيت دلجسيسي ركندڙ واك ديندل ليكيمارن ياران لكت فر درخواست ۽ (30x0 ريبا ائي خزار ريبا) (ناقامل واپسي اجي ادائيگي تي آفيس آف دي ايگزيكيوتو اتجنيشر سمال ديمز جويزن نگرياركر ايت مئي مان خريد كري سگهجن تا

فرمن/ سيازشيرز كي أن ڳاله جوهد حلف ناموجمع كرائشو پرندو ته اهي كنهن سركاري انيم سركاري انيم سركاري انيم سركاري انيم سركاري كاني وت بليك لست ثر آهي ۽ فرم البكيدار سركاري كاني جي كنهن سركاري كاني جي كنهن سركاري كاني سان مقدمي بازي ۾ به ملوث تر آهي.

نيكيدار/فرم كي FBR سان رجستريشن جمع كراتتي يوندي

آ. مڪمل ڪيل ڪر جي ادائيکي فنڊن جي موجودگي، جي شرط ئي ڪئي ويندي
 8. ايس بهي بي آراي روازجي لاڳاپيل شق نحت پروڪيورنگ ايجنسي ڪنهن واڪ يا پرويوزل جي قبوليت کان آڳ ڪنهن ۾ وقت ڪنهن ۾ يا سمورن واڪن کي ره ڪري سگهي ٿي.
 سگهي ٿي.

9 سيلاكيرز كي اين شي اين نمبر ۽ سي اين آه سي جو نقل جمع ڪرائٽو پوندو 10 جيڪڙه در آهند اين سي اين آه سي جو نقل جمع ڪرائٽو پوندو

) [. جيڪڏهن مقرر تاريخن تي سيلاء /ڪر جي موت تر ملي د انهن جا ڪوٽيشن /واڪ هيٺين تاريخن تي ساڳين شرطن ۽ ضايطن تي جاري ڪيا ۽ کوليا ويندا هاجي هليخن کا 201 - 12 - 12 - 12 - 13

ليم احي تاريخ: 12.06_08_19 منجيند 12.00 وگي كولن جي تاريخ: 2016_08_22 بوقت 01:00 وگي

صحیح خالد نواز ڈھر ایگزیکیوٹو انجنیئر سمال ہیمز ہویزن نگرہارکر ایت ملے

INF/KRYNO.2996/2016

كريشن كان اتكار كريو. اسان دهشتگردي خلاف متحد آهيون سته و تعليم جي پښتري Textay علمي ۽ پښتمريخام لكي 8398 هـ ايم ايم ايم وي

صل 27_ شدار 203 جنهر 23 مولار 2015 ع. 18 شوال المكرم 1437هـ | صنع 10 _ فيمت 12 ربيا

Dally AWAMI AWAZ Karachi



OFFICE OF THE EXECUTIVE ENGINEER SMALL DAMS

DIVISION NAGAR PARKAR @ MITHI

E-mail: xensdd_nagarparkar@yahoo.com Off: No. 023-2261801

NO: TC/SDD/NGP/43 OF 2016 MITHI

DATED: 20.7.2016

NOTICE INVITING FOR BIDS / QUOTATIONS

- 1) Sealed Bids / Quotation for the supply of Material good, unskilled Labour, Hiring of Machinery, Tractor, Datsun Pickup, parts of Government Vehicles, Computer parts, Electrical material, other materials, Office equipment and other stationery articles etc... For the year 2016-2017 are hereby invited as per terms and conditions of SPPRA Rules 2010 amendment 2013 from all interested persons / contractors and companies.
- 2) The blank Bid / Quotations should be available to the interested bidders / contractors from the first date of publication till the date of closing i.e. 15-08-2016 upto 12:00 Noon and the same will be received back on 16-08-2016 upto 1:00 P.M and opened in presence of tender opening / evaluation committee & bidders or their authorized representatives who wish to be present.
- The Contractor should deposit Rs. 100,000/- as a bid security in the shape of Call Deposit which should accompany with quotation.
- A complete set of Bidding Documents may be purchased by interested eligible bidders / firms on submission of a written application from the office of the Executive Engineer, Small Dams Division Nagarparkar @ Mithi, on payment of Rs. 3000/- (three thousand) (Non refundable).
- The firms / suppliers are required to submit an affidavit to the effect that they have not been blacklisted previously by any Govt. / Semi Govt. Department & the firm / contractor is not involved in any litigation and abandoned any work in the department.
- 6) The contractors/firms should submit registration of FBR.
- The payment of work done will be made subject to availability of funds.
- 8) The procuring agency may reject all or any bid at any time prior to the acceptance of a bid or proposal subject to the relevant provision of SPPRA Rules.
- The suppliers should submit the NTN number and photocopy of CNIC.
- 10) In case above supply / work remain un-participated on the above date the bids / quotations will again be issued on the following dates on same terms and conditions.

Date of Issue

= 19.08.2016 upto 12.00 Noon

Date of Opening = 22.08.2016 at 1.00 PM/

Say No to Corruption

(KHALID NAWAZ DAHAR) EXECUTIVE ENGINEER SMALL DAM DIVISION NAGAR PARKAR @ MITHI

ا ا INF-KRY: No. 2996/16 ا INF-KRY: No. 2996/16



مال ديمز دويژن نگريار كربمنام م

اى مل xensdd_nagarparker@yahoo.com: آفس فون xensdd_nagarparker TC/SDD/NGP/43 of 2016:

مشى مورخه 20.07.2016

ه ١/٥٥ مسنز كي طلبي كانوٹس

، فیر ہنرمندلیر، مشینری، ٹریکٹر، ڈاٹسن بک اپ کاکرائے پر مامل کرنے، سرکاری کا زیوں کے پارٹس، کپیوٹر یارٹس، انکٹریکل میریل، دیگر میریلز، يگر استيشزى آرفيكز ، وفير وكى سيال كرائ سال 2017-2016 برطابق SPPRA رايز 2010 ترمم شده 2013 د مجي ر كندو ليتام افراده

و فیشنز دلیسی رکھنے والے پیکلش و ورد کان / تنزیم کر کیلئے اشاعت کی کیل تاریخ سے بند ہونے کی تاریخ مین 2016-88-15 وو پر 12:00 بج ر 16.08.2016 سر پر 10:00 بج تک وائي وصول كے اور نيندراو پنگ/ايو يلويش كيش اور موقع پرموجود رہنے كنوابال پيكش وہندگان يا

ہے کہ شاخ۔/100,000 روپیشل کال ڈیازٹ کھور پڑ سیکورٹی جمع کرائم جوکوئیشن کے ہمراہ شلک ہونے چاہئیں۔ آت کاعمل سیٹ دلچی رکھنے والے اہلی چینگش دہادگا*ن آفر مزتج یر*ی درخواست جمع کرانے اور شاخ۔/3000 (غین بزار) روپے (نا قائل واپسی)

بٹوانچینئر ،اسال ؤیمز ڈویژن گریار کر بمقام مفی ہے خرید کیتے ہیں۔

چاہیے کہ اس بیان کا افجی ڈیوٹ جنع کرا میں کیل انا ہی وہ کی سرکاری ٹیم سرکاری محکھے کی جانب سے ملیک اسٹ نبیں کئے گئے اور فرم اکثر یکٹر کسی نے کی مجلے میں کوئی کا کہ کے انہیں چھوڑا۔

زکوالف لیا ری رجستریش جمع کرانی ہوگئی۔ کی اوا میکی فنڈ زک وستیانی کی شرط پرک جا میک ۔

INF KR

ک کی پیکٹش یا پرویوزل کی تولیت سے قبل کی مجی ات SPPRA روز کے متعلقہ مندرجات سے مشروط تمام یا کوئی پیکٹش مستر درسکتی ہے۔ انبراور CNIC كافونوكالي جع كرانامول ك-

مِي پيشڭشيں آكونيشنزائني شرائط وضوابط پردرج ذيل تاريخول بيس دوباره جاري كئے جا كيتكے: كام كالذكوره بالاتاريخ يرجواب موصول ندمون كم 19.08.2016 روي 12:00 ي كاك كمولخ كاريخ: 22.08.2016 ي 22.08.2016

ونغط الكريكوانجين

اسمال ڈیمز ڈویژن تكمر ماركر بمقامتهي

SAY NO TO CORRUPTION

.....انفارمیشن،سائنس ایند ٹیکنالوجی ڈیارشمنٹ

بدسيكورتى :بديرائسكا%2

میکرٹریٹ کراچی۔

ڈومیسائل اینڈیی آاری آٹومیشن پروجیکٹ

ناسائنس ایند نیکنالو جی و پارخمنث ،حکومت شده کو . يزيدُ نٹ سر ثيفكيٹ (PRC) آ نوميشن پروجيك زِری سرومز کے ساتھ ٹیکنکل، فنافش، اکنا کم بيكش برميط فيزيبلني ريورث كى تيارى كيليمشهور ں *اکنسور شیاہے تج*اویر مطلوب ہیں۔

كا موجوده طريق كاروقت كے ضياع، كاغذى Cumberson ہے۔ ڈومیائل اینڈ PRC انڈسٹری اورعوام الناس کے ساتھ حکومت سندھ ی معاونت کا شراکت دار ہوگا۔ اس پروجیک

Jec PRC] Ista Black to

پینکش جمع کرانے کا آخری وقت : 31اگست ₹,,2016 -£ 12-00

پیکش کارآ مرہے کی مت : 90ہم

مدت : بذنگ دستاویزات کے اجراءے 30 اگست 2016 تک۔

پری بدمینتگ : 9اگست 2016، دن کے 10-11 بج، بمقام سینی

روم، انفارميشن سائنس ايندُ عيكنالوبي دُيار فمنث بلذتك نمبر-6، سنده

11 nn . 2016 - Jal. A.t

بعدالت جج انسداد د مشت گردی کورٹ نمبر ۱۷ کرا چی خصوصی معتبد میار AJ-111/2016

ریاست بخلاف فیضان خان ودیگران ملز مان ابنية آئي آرنمبر 01/2016

زيردفعه 34/324/353 لي يي ملاكر يرفعين 7ATA 1997

تقانه: ڈیفنس،کراچی

ئر پر دفعے۔ 87 ی آریی ملاکر پڑھیں دفعے (19(1

نعبوسي مقدمه نب 2016 739 رياست بخلاف محبوب الرحمان وويمران ايف آئي آرنبر 66/2015 زيروفعه 34/324 لي لي كالماكر يوهيس وفعه ATA.7 فعاندا ناقم أباد ، كرايي.

ملزمان کی حساضری کیسلئے اعسلان __87 ى آرىي ملاكريزهسين(S.19(X بداد وہشت گردی ایک ئے۔1997

ہرگاہ میرے رو برو فکایت داخل کی من ہے کہ لمز مان (1) مجوب الرحمان ولد حبیب خان ،سکنه مکان بىر 274 سكِنرساز ھے تيارونز دمسجد آفعني اور تل تاؤن كرا چي ۔ (2) سمج الله محسود ولد حيات خان محسود ، سكند مومن آباد، سائت کرایی اور (3) نیاز محرف نیاز وولدر یحان خان، سکند ڈیرہ سلطان آباد جیکس کرایی نے زم کارٹکاب کیا ہے جوزیر وفعہ 34/324 لی لیای طاکر پر طیس وفعہ 7 ATA قابل سزاچرم ہے اور خاکورہ نزمان ئے خلاف جاری کرد و گرفتاری کا وارنٹ والیس آھیا ہے کہ طزمان برآ مرفیس ہو سکے اور ہرگاہ میرے طمینان کیے بیٹ بر کیا ہے کے خزمان مذکورہ دارنت کا هیل سے بیخے کیلئے رو ہوش ہو گئے ہیں۔

بذريعه بذا عدال أيا جام ب كرمفه ورمزون اخبارات شن اس اعلان كي اشاعت سے اندرون سات مح بوری 2016-12-08 کومنی 30-88 بیج عدالت بذا میں چیش ہوں اور خاُورو فکایت کے سلسے میں

مير ب استخطاه رمبر عدالت كما تحداق مورى 23 جولاني 2016 موجاري كيا كيا .

انىدادومشت گردى عدالت نمبر -V كرا چى

CORRUPTION

For SPORA Use Only NOTIFICATION 5-110/2012-13. With the approval of competent authority, a Complaint R nereby constituted in terms of Rule 31(1) of Sindh Public Procurement Rule 2010 2049) regarding ADP schemes 2015-16 of irrigation Department Rule 2010 and 15 to Small Dams Organization Street Hyderabed with the last 2049) regeroing to Small Dams Organization Sincile Hyderabad with the following Monitoring & Evaluation Cell Chairmen irrigation Department, Government of Sindh Project Director/ Chief Engineer Project Revamping / Rehabilitation of Irrigation Member Diamage System Hyderalied Member Project Revamping / Renabilitation of Irrigation Drainage System Hyderapad Executive Engineer Secretary (Concerned Division) Irrigation Department

T.D. K's of the Committee are as provided under Rule 31 of Sindh Public Procurement Fulle 2010 and also perform any other function ancillary and incidental to the show

> SYED ZAHEER HYDER SHAH SECRETARY TO GOVE OF SINDH

Assistant Secretary

NOSO(R&S)0-110/2012-13 /949/ Karachi, daled the 9th October, 2015. Accounts forwarded for information & necessary action to:-

1. The Accountant General Sindh, Karachi with the request to nominate your representative for the above Complaint Redressal Committee.

2. The Director Ceneral, Monitoring & Evaluation Cell, Irrigation Department,

Government of Sindh, Karachia The M. D. Sindh Public Procurement Regulatory Authority Karachi.

4. The Chief Engineer, (All) Irrigation Development, Govt of Sindn

The Superintending Engineer, (All) Irrigation Deptt, Govt of Sindn

The Diperintending Engineer, (All), Irrigation Department, Covt. of Silidh. Try Irrigation Department Govt of Sinch Relacht

SECTION OFFICER (RIS For Secretary to Government of Sinch

- 11 Dist 1111-

Director General

Yechnical Officer.

District Accountant Officer Sindh

(Concerned Division)



Email: xensdd_nagarparkar@yahoo.com Phone #, 023-2216108

OFFICE OF THE EXECUTIVE ENGINEER SMALL DAMS DIVISION NAGARPARKAR @ MITHI No. TC/SDD/NGF//// Dated, 23/8 /2016

CORRIGENDUM.

The dates of issue and opening Of Quotation invited vide No.

TC/SDD/NGP/43 Dated. 20-07-2016 is hereby further extended due to technical reasons.

The next new schedule is as under--

	FROM	то
I. Date of issue	24-08-2016	01-09-2016
2. Date of Opening	25-08-2016	02-09-2016

All other terms & condition of EOI and Quotation will remain the same.



CCk

- > The Chief Engineer Small Dams Organization Sindh Hyderabad for kind information.
- The Superintending Engineer Small Dams Circle Sindh Hyderabad for kind information.
- > P.S to Secretary Irrigation Department Government of Sindh.
- > The Director Sindh Public Procurement Regulatory Authority Karachi.
- > Executive Engineer's (All) Small Dams.
- > Copy to Notice Board.
- Master File.

Dist by 1 oper

ppe

nc N